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L e v = fa Frdd s | 1 Whenrature products e g,
et o S & 1 5 o 3 S €2 frfgl‘:nta;ough BT g ufaitd into othe,
Urin
(1) et & HSSC CET Grolip D“) Tertiary secto g it is
(2) m aﬂ An Swer Key 21 OCt Industrial Sectop
) mﬂﬁﬁﬁﬁ 2023 2nd Shift Primary sector
- (4) Secondary SeCtOr
(5) SWTE T e (5) Notattempted
QLAY wou & fhg IERE: '@G\ﬂ'@ 995 Yo fad [ 2. In which district of
‘ ; Madhya p
H ‘ Khajuraho Group of Moy, radesh, are
; i (1) Chhatarpur Hments locgeg 7
il (2) SR ) (2) Jabalpur
(5) TR i e EZ; :f::r
) o i (5) Notattempted
5) waﬁéma@ b ‘:
ﬁlﬂﬁfﬁé‘d Wﬂ?ﬁ m | 3. Which of the following is not part of the
@ Wﬂ; %7 ) ﬁ s Hﬁﬁ"m TF"I ol e Panchayat1 Raj system in India ?
i ;‘; e A1) Zila Parishad
| A) ﬁwm i (2) Gram Parishad
o : (3)  Gram Sabha
(3) amw e (4) = Gram Panchayat
(4 AT i e B) i Not attempted
R | 4. - Where is the National Gallery of Modem ™
4. ‘ . gy | located ? '
s il ' (1) New Delhi
0 Few e | ' (@ Kolkata
o TE |7 @) Mumbai
@ “ ,,‘\(4) Nagpur
5 - é’:ﬂiﬂ%ﬁ i (5) Not attempted
& i ‘af-
3 H H@ﬁ'ﬂ of¥mn %Y 5 Whom did India beat in the Finals OW y
5 w3 ‘q’ﬁf' 2;2 it ﬁﬂ? aﬂﬁwﬁiwq ' One Day Cricket Tournament held i the:
. fopthe e & PR m i 202878 1
. i (1) Sri Lanka
(2) Fmm | (2) Nepal
J?) BT (3) Pakistan
@) TGO () Bangladesh /
(5) STWAAITEE (5) Not attempted
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g T 7 forw o o Iovivem weew & o dge

e feenfeet ot ereEmn ?

@) 1990

(3) 1986

(4) 1987

(5) SWTE [ =

TOR ST S w e €2

(1) ¥g

() T

(3)

(5) W TR I T

A SR & o § Freafafan wem w fomm

FAFU SH T HH T R?

(1) Taa I e dhda & ®9 H S
S €

(2) S TN S Ao & TR ol
.

(3) eohas H i ot 79 ~aeti w1 Faifed
o AR 2@ R

'

/(5) I E S =R

Yl 1 i Us’ ST el S © 2

(1) AifE 39 S © 1

) ﬂ!ﬂﬁqmﬁwmuﬁwméa’r‘wmﬁr
eI ¥ |

(3) =Hifem zHem T A

~ ~ ~
|

L &

(5) ST N =R

6.

In which year did the United Nations adopt
the UN Guidelines for Consumer Protection ?
(1) 1985

(2) 1990
(3) 1986
(4) 1987

(5) Not attempted

Where is Salar Jung Museum located ?
(1) Mysore

(2) Goa

(3) Bhopal

(4) Hyderabad

(5) Not attempted

-

Consider the following statements about

Democratic Governments. Which statement

is not correct ?

(1) Democracy is also
representative democracy

(2) Democracy guarantees universal adult
franchise

known as

(3) Indemocracy people have power to elect
their leaders

(4)  Democracy is also known as Oligarchy
(5) Not attempted

Why Earth is called the ‘blue planet’ ?
(1) Because it has life.

(2) Because more than 91% of the Earth is
covered with water.

(3) Because it is blue in colour.

(4) Because more than 71% of the Earth is
covered with water.

(5) Not attempted

n which year did Gandhiji arrive in India from

South Africa ?
57 (1) 1917
/(a; 1917 @) 1921
@) 1921 (3) 1907
3\ 1907 101
(5) R T R (5) Not attempted
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N N N —Lax dtas sy S8 Sl
NCHL H A Al STR onl "4 <hlisiy @

= r

(D)-(I11)

(©)-(IV), (D)-(I1I)

<)

12. Correctly n
List .

Ryot

(A)
(B)
(©)

l lc)n \\] L 3
\ countries

‘ (1)

Africa

0\ {\Q" -
Asia

AR I UL
rurope

frof

Banyan

|
‘l (2) Willow tr



Jight
15, TR TRREA TR ) 30 Wy % ferepe foal % | 18. Khabar Lahriya, a newspaper run dh};t(;"i%r;»
3T Tfer Higenay BRI e 3 f i Dalit Women 1n Chitrakoot : 1 1ok
Wﬁmﬁﬁ'@'ﬂl%? e Uttar Pradesh, comes out in which lo¢
Rreir language ?
W) (1)  Pishoni
G e (2) Awadhi
< (3) Bundeli
4 T (4) Tulu
(5) S I =R (5) Not attempted
16. 3 v W o foee @ A A S 2 E 3 | 16. The substances which turn red litmus into
Yepfaa: T blue are in nature.
(1) W’H'TW_ (1) Neutral
(2) T =1 am (2) Acidic or Basic
T (3) Acidiq
T (4) Basic
! (5) Not attempted
(5) SR TR T =R ! |
; h mal temperature of human body is :
17. TS ¥ TR ST A O B i a)e n;; il o
(1) 98.4°C ¥
by 98cC (2) 98°C
(3) 35°C [@)li8see
(@l 37°C
(5) SRR A A (5) Not attempted
18. TRt § @ T T & o T H HEE Which of the following helps in clotting of
g2 i \ blood ?
, : (1) Platelets
P TRE T HITRTL (2) White Blood Cells
(3) fedmeifsr ~ (3) Haemoglobin
(4) o ot (4) Red Blood Corpuscles
(5) W 2 21 =med (5) Not attempted
Jo. werd il % Herd ST AEH P €2 | Which is the most common carrier of
T communicable diseases ?
(1) i (1) Dragonfly
RIS (2)  Ant
‘ 7 (3) Housefly
(@) e (4)  Fruitfly
(p) =W A & e (5) Not attempted
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20. I yufaat N U favm ax A @ U St ¥ 3% 20. Species found only in .
FEd Bl :‘lr)“’wr}’z aZ ‘ Pary;
1 " ndangered
2 (2) Endemic
% (3) Rare
(3) e (4) Extinct
(4) ﬁﬁ‘a (5) Not attempted
(5) WA S HRd
21. Select the non-metal frop, ,
21. frefoaa & ¥ S161g 1 999 A (1) Iron hey,
(1) (2) Sodium
P IUERE 43) Sulphur
(4) Copper
? ( 4j i (5) Not attempted
) ST T S e 22. Match the items given in g
22. HEH 13 fw T TS A Ilﬁﬁ:qmua‘fﬁ those in Column - IIL .
3 3 ShICTH - I
1Y GAfAd SIS | (A) Chloroplast ) L
I I play
(A) A 1)  hellgR e (B) Rhizobium (1)  Pa
(B) (1) TSHe e (C) Cuscuta () Ley
() ST (1) T (D) Pitcher plant (IV) Inse
plant
(D) = V) Hievafl e Choose the correct options below
i o 9T (1) (A)-(), (B)-(1), (C)-(IV), (DI
1) (A)-), (B)-1), (O)-(V), (D) @)  (A)-(), (B)-(1I), (C)-(0), D-N
) (A, () (I HCRCRRN) @) (&), (B)-(), (C)-(), O
S5 - (4)  (A)-@), (B)-(1), (O)-0), -
:z; 'g;l)';g{g’;’il;,a"lzg Sraa “q' ) (5) Not attempted
23, e - 19 g T Hl i IeH i 7S} | 23:  Match the items in Column - It
T S3FerT - -ﬁ Column - II :
F @1y gafad : I I
: fagm | (8) Typhoid ) Ve
(A) (B) Hepatitis A ) Fo
(B) BUEERH I - — (C) Malaria i) o
(©) C I11) (D) Wheat rust (Iv) Pf 5
(D) E 1 V) Choose the correct answer
5 e faredl B 9 W S T I oy o
1) (B)- (mJ (B)-(11), (C)-(1V), (B)-(0 m  @-am, @)-m, ©-) g
2 (A)-0, B)-01), ©)-11), (D)-(V) @ @-, B-m, ©-1 O
@ (8)-00, B)-0), (C)-(I11), (D)-(IV) 3)  (A)-1), (B)-(1), (O-(D) (
4 (A)-m), (B)-(1), (O-IV)
‘() FE AR T e (5) Not attempted
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If a body covers 100 km in 5 hours its speed

24, R i 100 km F g 5T AT FAED Sl R
W e L (1) 20 km/hour
. (2) 500 km/hour
) 500 f&.dl. /5@ (3) 20 meter/hour
(3) 20 Hiey/ w2 4) 20 centimeter/hour
(4) 20 Y/ we (5) Not attempted
(5) ST TE S =
25. . Which is the best conductor of heat from the
25, frefefEd § & S-S H Yo ST AH © ? following ?
(1) Silver
i2') ST (2) Aluminium
3) S (/i o
. (4) Keroseneé
6 I ey (5) Not attempted
: 26. Night blindness is caused due to the
26. TWiH 2t F HRY B ¢ :
deficiency of :
() FerEC (1)  Vitamin C
(2) fea™iD (2) Vitamin D
( i (3) Vitamin A
4 TRfEB (4) Vitamin B
(5) TR AARE (5) Not attempted
] |
27. ﬁa;’éa ag EIREDE aﬁza:%:mm q 'HT’H Cot;:kro:ih breathe through network of air
T, - =@ SEEl tubes called
(1) fereett (1) Diaphr_agm
@) 1Yy (2) Stomata
. TTAFel ' (3) Gill
)’% & ot (4) Trachea
5) e 78 2 e (5) Not attempted
28. frefatad 3 & % T STeud  Feifkd A2 g:ei;ile o?f the following is mot a deficiency
/6 o } (1) Goitre
(2) A (2) Scurvy
(3) e (3) Anaemia
- (4) Malaria
(5) FHAH S =R (5) Not attempted
Page 7
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29. ﬁﬂﬁf@aﬁﬁaﬁqmu@mwmﬁ@m%?

(1) %
v
Q) g
4 ¥
(5) W& I IR
30. HTEM - I ¥ e T 7 A e - 1, ¥ few o e
%mgﬁfmm‘i:
; II - (wfswar)
RISEEEC G
IS 1 fereires

(1) (A)-{, (B)-v), (O)-), (D)-)

(3)  (A)-(V), (B)-(), (C)-(), (D)-(m)
@ (A)-QV), B)-), (C)-{1L), D)-m)
(5) TR < =R

31. T HYT I 35 a5 I Frewdd (1) ok (1) Feu |

F ot & 01 7 W B B, Pk 5 A
el Fe T e 3 SRR b e il

&/ fawea 1

o - F9 P A € |
%3 Haferl val €|

fregd: () FOFWAE
(M) FBUERFAE

(1) frea (1) 3R (1n) <1 Freema €1

(3) ad TR (X) FeheT & |
(4) e fAed (1) fee & |

. The planet which appears reddish in Colgy,

18

(1) Venus
'(2) Mars

(3) Earth

(4) Mercury

(5) Not attempted

Match the items given in Column - T ;i
those in Column - II :

I - (Digestive Organ) I - (Process)
(A) Small Intestine (I)  Chewing of fooq
(B) Large Intestine (II) Churning offooq

(C) Stomach (III) Absorption of
food

(D) Mouth (IV)  Formation of
faeces

Choose the correct options below :
(1) (A)-(), (B)-(IV), (C)-(1), (D)-()
(2 (A)-(m), (B)-(IV), (C)-(m), (D)-(1)
) (A)-(v), (B)-(1m), (O)-(1), (D)-(1)
(4) . (A)-0V), (B)-(1), (C)-(11), (D)-(11)
(5) Not attempted

. Two statements are given, followed by two

conclusions (I) and (II). Assuming the
statements to be true even if they seem to ¢
at variance from the commonly known facts
decide which of the conclusions logicall
follow(s) from the given statements.

Statements: Some dogs are fishes.

Some fishes are birds.

Conclusions: () Some dogs are bird

(M)  Some birds are dogs
Both conclqsions (I) and (I1) follow
Neither conclusion (I) nor (1) follows
Only conclusion () follows

(1)
(2)
(3)

(4)  Only conclusion (II) follows

(5) T (5)  Not attempteq
T %% e & fore 2211/ SPACE FOR ROUGH WORK page’
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32. 9 fawey &1 939 H S TR T ¥ U THR Gaftg

T Y T 0 TR IS § el R
W:q@ﬁmu%’l:%?ﬁ.
(1)
(2 REEE

“w
(5) W TE <A AR

33. foud &1 93w wifsw)

(1) T
@
B) HIR
T R

34. i SiiIsi 3T&RI % T I STHATCA HH | fean T/
T Hereill & 34 HaAH % 99 S SEh SIER
37eR ol A fed i W Teh YU 363 o |

L N S A I G

1 2 3 & 5 6

[y 8,5,4,2,63
2,6,3,1,4,5

[3)0 584 2,1,6,3

(5) STl < ARd

(1)
(2)
(3)
(4)
()

(1)
(2)
(3)
(4
()

L

.
@
o (3)
)
5)

32. Choose the option which is related to the thir'd
term in the same way as the second term 18
related to the first.

Mosquito : Malaria::Rat: __?

Rabies
Typhoid
Plague
Dengue

Not attempted

33. Find the odd one out.

Sparrow
Parrot
Pigeon
Kiwi

Not attempted

34. A set of English letters is given below in a
jumbled order. Select the combination of
numbers so that the letters arranged
accordingly form a meaningful word.

N frifas BENA BT G
o3 A 5 g
3,5,4,2,6, 1
2,6,3,1,4,5
554011 643

3,5,6,2,4,1

Not attempted

35. afg uF fafyaa Few™ & MUSSOORIE’ Fl '=35. If in a certain code language MUSSOORIE’ is

‘OTURQNTHG’ feran < &, at 3wt gesmn #

DELHI’ &1 &1 fer@r s ?

written as ‘OTURQNTHG’, then how will

ELHI’ be written in that code ?
) FCNFK

(1 FCNFK
(2) FCNGJ (2) FCNGJ
{3 FDMGK (3) FDMGK
& (4) FDNGK
(5) W 6 ol <%d (5) Not attempted
HANTY / F2 <% @i % fe7u 2Tl | SPACE FOR ROUGH WORK Paaas
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36. 9 T SR ) Yga fed Mg F I e 36. Read the following information to answe, the

SRR / uestion below :
AS$ B 31;; 'BA‘, /1\32:12}%%"' Z * B means ‘B i’S the br'()the;”é)’f A’
A#Baﬂ?ﬂ?i%‘B_Agﬂg-,‘%’l A$Bmeans‘A1.sthew1feofA,,
’Jﬁi‘P$Q*R#S’% S fen T B W weA A#Bmeans‘B:stheson.o ;
) IfP$Q*R#S then, which of the followip,,
Wbl statements is true ? 5
BER.O =T (1) Ris the father of Q
et 3 s (2) S is the nephew of Q
©) S,PH&Tga%. (3) Sisthe son of P
/ﬂ}f R P %F’\“H{ .l (4) R is the father-in-law of P
(5) W& < =R (5) Not attempted
i P it AW _2 1 6 HT 37. Find the missing term __? _ in the series,
195, 25,5, 7 o Ll e
5 25 125 (oGS e -
) a1
e o) =
(3) 5
(5) SWE o =R il
38. dRa24 mqﬁanaﬁaﬁiaaﬁwwqﬁariﬁm (5) Not attempted
24 m Fod € 39 oG 8 3311'31 o it @ 311? Lo i e A R . e
m Tt €1 GH: I8 39 ST GSH 24 m A | s e
Gftar 37a 3797 TRfe feig 9 fohert g¥ don fohw femm her left and walks 16 m. Again she turnst
Hg? hfar left an.d wa11_<s 24 m. How far and in which
(1)  40m,3® direction is Sarita from her starting point ?

(1) 40 m, North
(2) 40 m, West

/(3) 32 m, 3w (3) 32m, North .

£ (4) 48 m, West
(5) 3T T T & (5) Notattempted
39. BEMEAP,Q,R,S, T IR UIHH AR e el

*

®S| 39. SixfriendsP, Q, R, § ing i
e 3 fip 3t o SE,Q,R, S, Tand U are standing
e % @S %, ST el % a row facing North but not necessarily i t*

P o R&HILEI Q, T’ % T same order. P’ is to the left of ‘T and to ¢

& at & A s, U H AL ARE Q) F I lri*ftm fOfs‘R" ‘Q’is on the right of T’ but to #*
e 0 Q)

4 who is to the left *. Who ar¢

L7 neighbours of ‘Q’ ? R Who

(1) Tand$S

(2) PR ) PandR

3 TH#RU @) TandUu

(4) PERT (4) PandT

(5) I A & A () Not attempteq

4,/10

HANTY / F2 2% @14 @ fe1C 2errel | SPACE FOR ROUGH WORK page



Join Telegram Group "gradein”

40. Rydiept &1 SR Fet HE & R YRR R

41.

42.

/(2')

43.

44,

<ot TR o Sten i WE 1 geen WrER § | e

¥ s &1 oAl TR ?
() a2
A8 23
4 21
(5) SR & SR
(0.5%0.5+0.5+5) RERT:
(éj 0.45
3) 0.15
0.25
(5) S & o =ed
S gemet 2 p, 5 p A7 pH L.CM. §:
(1) 75p
70 p3
4) 65p
(5) SRR o dred

515 A
fFE TR 3%% e X E 25 YT hT FTERY

S Z 21082

Z2,800
(2) %2,500
(3) ¥1,580
(sj TR T & Aed

oA o a2 foet qotter €, A e & 9 b e
27

40.

41.

42.

L
(0)
m( 1)
(=)
(3)

Privanka’s birthday falls on the third Friday
of a month. The fourth day of that month is
the first Monday of the month. What is the
date of Priyanka’s birthday ?

(1) 22nd
(2) 1s5th
(3) n3rd
(4) 218t
(5) Not attempted

(0.5x0.5+0.5+5) isequal to:

(1) 0.35
(2). . 0.45
(3) 0.15
(4 0.25
(5) Not attempted

The L.C.M. of three numbers 2 p, S p and 7 p
is : '

(1) 75p

(2] 70D

3 70p

4) 65p

(5) Not attempted

g; For which sum, the simple interest at the rate

3 1l
fSZ% per annum will be ¥ 210 in 25 years ?

%2,800
¥2,500
¥1,580
%2,400
Not attempted

(4)
(S)

and b are two distinct integers, then which
the following is incorrect ?

(1) a+0=0+a=a (1) a+0=0+a=a
(2) a-0=az0-2 (2) a-0=a#0-a
(3) a+b=hb+a (3) a+b=b+a
(4 a-b=b-a
5 A () Notattempted
HANTV / F2 o @ % fe10 2l | SPACE FOR ROUGH WORK B




Join Telegram Group "gradein” k)

5. Wy w
ﬁ:aWﬁWWﬁWmmwﬁ; 45. A certain number is divided into (y,,
S

ll|||‘

T"T’F\TW M % 11 TﬁﬁﬁT@W such that 5 times the first part adde o] |

| bl times the second part makes 7 tim.
Bl A p » nes (),
SRRIGES T BT 9&et sy & T 9 R number, ;|~l-1(3.;~;.|l|() of the first part |, '::'
second part 18 :
(1) 1! 30
@) 813 (BN i)
- ()5 248
R @ st
(5) ST I ey (4) S

(5)  Not attempted

46. 9 g X :
I 3T T e & 65% % SR €| [ 46. Half of a certain number is equal to 659, of

Wmaﬂﬁﬁﬁ@lﬁ 313[‘11?7%: the second number. The ratio of the f,
(W) A848 number to the second number is :
(L) LSS
8)~10:13 2) 13:10
/“‘)/ 8:13 (3) 10:13
(5) W TR I =R (4 8:13

(5) Not attempted
47. 10mx 10 mx5 m fomel o F | @ 51 gy

el ot o ot B 1 TR & 47. The length of the longest rod that can be place
) \/_ : in a room of dimensions 10 mX 10 mx5mis:
10v2 m
/(’Z) & (1)  10y2 m
5J/3 m
‘ 2 5y3m
B) 153 m
C B) 153 m
(5) SR el 28 15m
N E— (5) Not attempted
48. fopaa o8t §, T 800 i TRT 10% afw
212 F. 7 926.10 & Sl S o T 48. Inhow many years will a sum of ¥ 800 at 10%
X ! 5 Per annum compound interest, compounded
IS Il & ¢ semi-annually become ¥ 926.10 ?
1 1
(1) 2—§aﬁf m (1) 23 years
1 L 1
2) 25 EL|

m (2) 25 years
11 0| 1
% 3 ) 15 years

1
_ (4) 15 years
(5) SW T &A1 =Rd (5)  Not attempted
HANTV / F2 TG 1l o Te10 T&iet / SPACE FOR ROUGH WORK W




Join Telegram Group "gradein"

00 witex gy aen W & g N g aur il
Mmm3;1§¢gannﬁﬁmmquaannmm
i @ STAUT 4 : 1 BISMT?

~

49.

(2) 6 @R

B3y 7 e
-

(4) 4 T

(5) TR & AEd

¥ 0.2 + 0.01 - ey &} ", Wit BT :
0. 5.1x0.1+0.02

/41
/m !
9
@ 3
41
@ 12

(5) W TEl o =

51. fe fereit o o1 forsha Tea S6eh hd 7T I % T

%, i 279 9 H oy wfawe €
1 2519%

2

2

@ 163%

]

(5) == AE = =ed

49. 20 litres of o mixture containg milk and water
in the ratio 3 : 1, The amount of milk to be
ndded to the mixture so as to make the ratio
4:1,18;

(1) 5 litres
(2) O litres
(3) 7 litres
(4) 4 litres
(5) Not attempted
02%0.2+001 .
; ifinati f gives .

50. Simplification o 51x0.1+0.02 2
] 41
(il e
By e
i -

: 3 -5_,
G
s
c) Not attempted

4
Smthe selling price of an article is 7 times its

cost price, then the profit % in the transaction

m) 25%%

B oL
o)

(3) 16%%

4) 20—1~%

( 2

(5) Not attempted

HANTV / F2

= @14 @ feru Zenel /| SPACE FOR ROUGH WORK
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A

52. 1 .
ATHFE S - W10 A F B owdh

53.

54.

55.

mamowoﬂmw%ﬁzoﬁqm%mcﬁ
1 e

Ff 3 Y13 o o o W &1 o 9 3

fﬁmaﬁu@mwﬁmm%?

/(21/ A de1 C 3N
( A

3)
4 B
(5) ST < =

AR (a+b) : (b+c) @ (c+a)=6: 7 : 8 A
a+b+c=14'§,?‘l"fc%:

(1) 8

2) 14 .
7

(5) W TR < = e

A, B @1 C 7 iR T &R § T 50,000 T |
Ife A ¥ B ¥ T 4,000 ¥ @ qe cH
Z 5,000 31fYe @Y, @ T 35,000 & ‘
AFTUME:

M 213,600
(3) 8,400
(4) 11,900
(5) SR TR T =ed

radein

wF FR 1 Fe § 20 e T ¢

Tqa T € :
(1) 36
(2) 20
(3) 18

(5) A A Aed

52.

53.

54.

A can do 2]}— of a work in 10 days, B can o g

7 S ]
of the work in 20 days and C can do 3 Of)

work in 13 days. Who can complete the sk
work in minimum time 7

(1) ¢C
(2) - Aand C both
3 A
@ B

(5) Not attempted

If (a+b) : (b+c) : (c+a)=6:7:8,4

a+b+c=14, thencis:

1 8
(2 14
@ 6
@ 7

(5) Not attempted

A, B and C together invested ¥ 50,000 in
business. A invested ¥ 4,000 more than
and B invested ¥ 5,000 more than C. Outo
total profit of ¥ 35,000, A received :

(1)  T13,600

(2 T14,700
(3) 8,400
4) 11,900

(5) Not attempted

A car goes 20 metres in a second. Its SPE

in km/h is :

(1) 36

(2) 20

B) 18

@ 72

(5)  Not attempteq
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6. Choose the alternative which best expresses

the given sentence in Active Voice.
s will be sent today.

The invitation card
/They will be sending the invitation
cards today.

i

3) The}; will sent the invitation car_ds today.

(4) They will have sent the invitation cards
today.

(5) Not attempted

7. Choose the most appropriate alternative to fill

in the blank.

The noise comes from the river.

(1) over
((3) against
(4) Dbesides
(5) Not attempted

8. Find out the correct indirect speech of the

following sentence. .
He said, “Do you know German ?”

(2) Iasked him it hé KNEW uciiuai
/(})’ He asked me to know German.
(4) He asked me if he knew German.

(5) Not attempted

61. Pick out the synonym of the underlined word

in the following sentence.

The cellphone industry has ushered a new
phase of communication.

(2)

collapsed
completed

(4) given up

(5) Not attempted

62. Fill in the blank with the appropriate option

given below.
If you no confidence in self, you

are twice defeated in life.
e
(2)

(3)
(4)
()

63. Choose the alternative which best expresses
the meaning of the underlined idiom.
He had to confess his crime because he was

caught red handed.
(1) ):aught very late

having

has

had not

Not attempted

AyElobi el

Caught sleeping
Caught easily

(3)

c

9. Find out the part of the sentence which has Not attempted
an error. MR
If he is a millionaire, he would help ik out the correctly spelt word.
(@) (b) minipulation :
the Millennium Project in the future , - manipeulation
() (d) : :
1 (© menipulation
2 @ @ Not attempted
( ; 3
@ ) IGSwoose the most appropriate option to fill in
5) Not attempted lank.
beggars sat the wall of the
60. Pind out the antonym of ‘absurd’. le.
ﬂ refuse A2 in
(3) silly (3) on
) anxious (4) Dbesides
5) Not attempted (5) Not attempted
HANTY
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T

o WWWI?WMWWW 71, Freifea fomedl % § TR W H T 5,
: , | 1 @
(1) el o &, o = oy o @
O Wawany Ll
M T T v g 2 . :
(5) ST R )
7. ST v 3 e et | 7 S T A
fere, waffives s e # -k
J e
@ e (3) I 3R Tremer B o he
(3) forvamaam () &, T
(4) forvamt (5) ST oM e
(5) ST SMART
73. UMY e w1 it A I &2
68. ‘Tl TS 3T e ¥ Tt & - 3
T o X@iTohd Vg o fere watfu 39 gt @ 9
TR T 3) wfaffy
(1) it (4) o
(2 = (5) ST =R
'(4) o 74. U AR 6 Foelm 1 -1 S waiiE
69. ‘WZ:;E“;“'WW% @ s wm
(1) 2 BV = kg
(2) e g I R A S U @ = ek
(3) e U =
Rl il CG 6 IR
17 = |
5) IR <A
B | S |75, gwﬁﬁ-mﬁmmmww
70. ¢mﬁ'wmﬁwmﬁu—ﬁ@ (1) .
(1) qm+m2f RS L
"3 wewd O T e 3
@ 9T AN @ s
(5) R el & =ed (5) Wﬁﬁé:“m
HANTV / F2 D7 RIE TN AACE Fm



afamon & “weRT Wit ST Tt A & s

76.
b & e feR Tifa st e fee T € 2
5,300
(2) 4,200
(3) 6,500
(5) ST M =ed

mﬁﬁmﬁsﬁ@am%aﬁuﬁﬁmﬁﬁaﬂmﬁ
W faar ISl -

(@ €T, Qa7 fed g

b TERAWE TS gl

S § & BT/ Y I T /2

7.

() A (a) ARTH (b)

Join Telegram Group "gradein"

76. How many villages are approximately covered
currently under the scheme ‘Mahara Gaon -

Jagmag Gaon’ in Haryana ?

(1) 5,300
(2) 4,200
(3) 6,500
(4) 6,000

" (5) Not attempted

77. Consider the following statements in respect
of Motilal Nehru School of Sports.

(a) It is situated in Rai, Sonipat.

(b) It is affiliated to CBSE.

Which of the above statement/s is/are
correct ?

(1) Both (a) and (b)

(2) Neither (a) nor (b)

(3) (a) only

Fad (a)
(4 (D) (4) (p)only
(5) T 1 9ed (5) Not attempted
8. SRAON it UM SHEE 4 H FA SAEET 78.! What 1istt.:he ap})rctJﬁimatte p;:rcenta{ire qf rura%
e TepaT e & 2 4 I;talgn o e total population o
(1) 50% Y s0%
S0 45% L
65%
4) 55% 55;
0
(5) SR <A =R $
) Not attempted
79. g @ik Sa Fi faerd 33 % g i e | g S R Aok
i . o PETRENSW an, famous for giving sportsmen
el o forct & feara &7 @ advana and to India is situated in which
w faar district ?
(1) Bhiwani
(3) EE (2) Sonipat
@ (3) Rohtak
i L, (4) Karnal
6) B T & e (5) Not attempted
Page 17
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80. Which one of th
for Indian Women

e following places is | ;
Hockey players ?

W*WWWE (1) panchkula
)%)/ EECTll (2) Shahbad
(3) Faridabad
e (4) Gurugram :
4 o (5) Not attempted
(5) SR S =R s1. Conside;‘ the folloWing. st.atements.. .
: (a) Masani barrage 18 in Rewari dist,
81. fmfafad wui W fa=m FifvT! () Kaushalya Dam is in Pinjore.
(a) mmwmﬁ%l : Which of.the above statement/s is/
b) e sty fiSR 7 fea 21 correct ?
ST B @ BE-T/A T T Y2 (1) Both (a)and (b)
AL \/\. Y (2) Neither (a) nor (b)
3) (a)only
(2) AT (a) IRAR (b) E 4 (blonly .
@) F (a) (5) Not attempted
(4) e (b)
(5) SW T o =ed 82. Which of the following is not a dance for
Haryana ?
g2, foe & & H-T R 1 I B T €2 (1) Loor
3 | , (2) Khoria
,,(l‘)( ;Bﬁm (8) Talghadi
LB C (4) Phag
, (5) Not attempted
4 BT ; N 1Rl
(5) W:'ﬁa:nma m 83. }ln(;NhICh year Harya_na was made as 2 f
edged State ?
83, R fg d T T 2 M 1971
. 1971 ' U | (2 1963
(2) 1963 1 CG (3) 1962
@) 1962 4 196
( S — (5)  Not attempteq
(5) ST =Ted ; _ S
84, H : .
aq. g fiad e o Fraferd 49 €2 O ) thcgex?nmﬁyayw}iﬁzn?sabha e
(1) 92 : (1) 92
(2) 94 () o4
(3) 38 B) &8s
4 90
5 &1 =Ted
(5) FWTE & ) Not attempteq
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e o o o e | %% members was an 15 Officer of Raryana
Q Cadre ?
97? . (1) Mata Prashad
(1) T HES (2) Subir Dutta
y/' e &l (3) P.C.Hota
(3 =l (4) S.K. Mishra
7 St (5) Not attempted
(5) I TR Gl =ed

86. Which amongst the following is not a canal
network system of Haryana ?

6. ﬁﬂ%@ﬁﬁ@ﬁamﬁwﬁzﬁ#mﬁ

TR (1) The Yamuna system
(1) FEA Yot ‘ (2) The Indus system
2 Ty yomed! | ‘ (3) The Bhakra system
3 & HoTTet A i (4) The Lift system
- ‘ (5) Not attempted
(5) SR A =ed
e | O TR e g
SR 3 1Y ST W S € 2 jasthan ?
1) feEr : . dl Hissar
- | 3 _( - Sirsa
@ 03 Kaithal
@ R S e
(5) WAL & =red (B @ Not attempted
88. mquﬂﬁm (X SSHe State Anifnal of Haryana is :
W @ Camel
(2) ,..m (2) Tiger
3 i (3) Black buck
(4) @l (4) Elephant
(5) =W Tl & = (5) Not attempted
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.o OTieeoeRoReSSECES

89 ﬁwﬁf@aﬁﬁaﬁq-mm
e T 22 1 IR dremeh
()~"TvH
@)
4 S
(5) SWTE < wR

90. SR RIFRTG =it o1vaRo et srafeerd &2

) HE™

B) T

4 i<

(5) S| TR A=A

91. ‘wifd =% JWHR foidr =1 o et g 6
RURESES IG1 K

" 75,00,000

(2) ¥25,00,000
(38) ¥51,00,000

1
(5) ST ol =Rd

92. THHRI YA 5 Fal S & 2

My, T

adein

h amongst the following is not 5 ,

- g:rl;ana’s traditional attire ?
(1) Daamarn
(2) Chorno
(3) Pagri
4) Chunder

(5) Not attempted

Where is Bir Shikargarh Wildlife Sanc;

90.
located ?
(1) Panchkula
(2) Karnal
(3) Kaithal
4) Jind

(5) Not attempted

91. What is the one-time cash amount give
the “Kirti Chakra” awardee ?

(1) ¥75,00,000
(2) %25,00,000
(3) ¥51,00,000

4) 1,00,00,001
(5)  Not attempted

92. Where is Chinkara breeding centre locat:
(1)  Morni, Panchkula
()  Kairu, Bhiwani
() Pipli, Kurukshetra

(3) T, FEEA
o (4) Hissar
B m ()  Not attempteq
93. uIEd Ve W g # Fl ﬂ‘q’ﬁ’l?*- o gch;c:i :xsx I{Ina?;a;rrllal I;Stitute e
(1) fard @ (1) Bhiwanj
2) m @ Karnal
@) e B)  Panchiyy
4)  Roht
(5) W T& &1 =ed ) Not :ttmpted
HANTV / F2 mmzf'asﬁvmm/smcs FORRoUGH WORK 2
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T 3 ) R TR T | e SR g A

4. 94. Two most important monume
2 ‘The LAT and the H nts of the State
firg T R e © 7 RN i SR “)laceu?mayun Mosque’ are
(1) W (1) Kurukshetra
(2) ARTER (2) Naurangabad
(3) Fatehabad
Tosg (4) Mahendragarh
(5) T &} 1 Ted (5) Not attempted
95. 39 SR F TETH HIST Sl A9 g fie m 05. Identify the place where Guru Gobind Singh
TSl & 919 I8 ¥ 9IE 52 fe T &h & ? stayed for 52 days after the battle with Hill
Kings ?
(1) ST fes :
(1) Dhamtana Sahib
2 TeEl TG ISR
@ (2) Gurudwara Lakhan Majra
' (3) Gurudwara Kapal Mochan
,@/ 1 . (4) Gurudwara Damdama Sahib
(5) S & o 3|3§| (5) Not attempted
96. THITd =1 SIEY I Frefated ¥ § frush ot el ; :
o ? 06. The Third Battle of Panipat took place
> between :
AL e e AR e e Q Shah Alam and Muhammad Shah
(2) T fEiE SR SIS _ == Guru Gobind Singh and Aurangzeb
(3) T e iR TSI 1N Nadar Shah and Aurangzeb
Ahmad Shah Abdali and the Marathas
(5) SRR < =R Not attempted
)
97. Wq‘gmaﬁi‘mﬁq .ﬁff“q IS el ST 9.mhich day of every month is celebrated as
wa | A F w9 T A ST R 2 aithi Bhojan Beti Ka Janmadin School me
- wmandan” ?
3 31d Tuesda,
@/‘ e HTAAR e
) (2) 4th Tuesday
(3) Hedl HIRIEAR
: (8) 1st Tuesday
(4) <80 AIAR
ol (4) 2nd Tuesday
5) 3TWAT =
) (5) Not attempted
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S omeneesemm—wn

98. maﬁwfamﬁ‘ﬂé,zozz%agwmm 98.
;f(@ﬁ—zoso)gﬁaaﬁﬁgﬁqmmw
—H1 ¥ §?
(1) =3
(2) 3eEr
(3) U=em
'/(5) S TR <A1 =ed
99. ERET TS T U T AN - faeyan Yo & aR A o
Frafafaa wuHl | fa=r Sifeg)
(@ 2199 3R 3ud ifues 37y i afeen = €
(b) wﬁﬁ,soouﬁmswﬁmm%r
S § Q HH-1/9 FHeE W 8/8?
(1) (a) 3R (b) T
2) AW (a) ARAE (b)
/(4) ead (b)
(5) TR A&l o1 Aed
100. mma’{qma(aﬁ.@.@ﬁﬁ.)%aﬁﬁﬁmﬁﬁaa o
e W e IS |
(@) fearon 1 1. @S e Aot wa. L.
3 eAferh | » —
mﬂwsﬁ_qq:&?fﬁ? g %@:ﬂfmﬁ.
g i € .
B Ak @'
@ At @ ATAO CG
3) Fad (a) =
i o)
.0o00-
—tp @14 o TeTC 221Ta1 / SPAC
HANTV / F2

D

Lo, / 1
e India’s Environment Rep,, ’

L pirit: the rank of Haryana g,
Zcr;l?eving gustainable Developmen,
(SDG-zoso)?

m 6

(2) 8th

@ 1

) 3rd

(5) Not attempted

e following statements

ider th
v Scheme - a State Schey

Widow Pension
the Government of Haryana.
A woman of age 21 years and aby,

eligible.
It carries an allowance of ¥ 1,800,

(a)

\?hich of the above statement/s is
correct ?

(1) Both(a) and (b)

(2) Neither (a) nor (b)

(3) (a) only

4) (b)only

(5) Not attempted

Consider the following statements about G
State Domestic Product (GSDP).

GSDP of Haryana is more than th

(a)
Karnataka.

(b))  GSDP of Maharashtra is more tha?
of Haryana_

Which of the above statement/s is
correct ?

(1) Both (@) and (b)

(2) Neither (a) nor (b)
(3)  (a) only

(4)  (b)only

(S)

Not attempted
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